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Check slicing
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Check AQ vs #slices & 06/2

Positive 6/2. Convergence of the number of slices depends on the optics. Advisable to use minimum 11 slices.
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Positive 6/2.

AQ (only HO at IP5)

Check AQ vs #slices & 06/2

Zoom at small crossing angles.
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Check AQ vs #slices & 06/2

Negative 6/2
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AQ (only HO at IP5)

Check AQ vs #slices & 06/2

Crab crossing.
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Check DA vs #slices

B*=10cm. 8=720prad. I1=2.2 1011 ppb. Case without errors (seed #1). 10° turns.
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Check DA vs #slices

B*=10cm. 6=720prad. 1=2.2 1011 ppb. Case with errors (seed #1). 10° turns.
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Check DA vs #slices

B*=10cm. 6=720urad. 1=2.2 1011 ppb. Case without errors (seed #1). 106 turns.
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Check DA vs #slices

*=10cm. 6=720urad. 1=2.2 1011 ppb. Case with errors (seed #1). 106 turns.
8

5 Slices m——

7 Slices =

9 Slices

11 Slices | | 5 : | |

ST 13 Slices mmm—
15 Slices ==

7_.

10° turns DA [c]
IN

Angle [deg]



	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11

